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Whether tonnage should embody two flgures or one flgure.f? 1T ?{”f

Answer.' 26 in favour of two flgures  _ S
7 in favour of one flgure only. e

- Question No. 5:

What parameter (deadweight, volume or displacement)

“should be used for the formuls determining gross tonnage.
' Answer: 2 in favour of deaéwelght'
' 2% in faveur of volume .

10 in favour of dlsplacement

:Questlon No, 63

What parameter (deadwelght volume or dlsplaoement)
should be used for the formula determlnlng net Lonnage.
Answer: 2 in favour of deadweight

14 in f=vour of wvolume
20 in f-vour of displacement.




